Math 110, Winter 2011, Midterm 1 practice 
Instructions

· Closed book, closed notes, except for one 8.5”-by-11” (or A4) sheet of paper, okay to use both sides.  You may be required to turn in your note sheet with the exam, so write your name on it.  

· 75 minutes are allowed for this exam.

· Clearly indicate your answer.

· You must show all relevant work and justify your answers appropriately.

· Partial credit will be given, but not without sufficient support.

· No calculators that have a QWERTY-type keyboard are allowed, unless previously approved.  The proctor's discretion is final.

· This test covers Chapter 1, Chapter 2.1, and 2.2
· THIS PRACTICE TEST DOES NOT INCLUDE EVERY TOPIC THAT MIGHT BE ON THE REAL TEST!

· A good way to study is to make a list of all the types of problems we’ve talked about (in class, worksheets, the textbook, homeworks, and projects if any) and make sure you know how to do each type, and understand the connections between them.

1. The US troop surge into Afghanistan was 30,000 troops.  Give two things to compare this to:

a) [4pts] 
b) [4pts] 
2. Define:

a) [4pts] accuracy

b)  [4pts] precision

3. Give examples of:(that is, name two quantities like speed & distance)

a) [4pts] a directly-proportional relationship 

b)  [4pts] a non-directly-proportional relationship 

4.  [4pts] Analytically estimate the number of new refrigerators sold each year in the U.S. 

5. [4pts] There were 35 EMU math professors in 1990, and there are now 25.  What is the percent change?

6. H1N1 flu has apparently caused roughly 8000 deaths in the US so far, according to the CDC.  Give two things to compare this to:

a) [4pts] 
b) [4pts] 
7. [4pts] What is the danger in giving too much precision?

8. [4pts] Is this a directly proportional relationship?  Explain. 

(data from http://aspe.hhs.gov/poverty/09poverty.shtml
)

	People in family
	Poverty level

	1
	$10,830.00

	2
	$14,570.00

	3
	$18,310.00

	4
	$22,050.00


9.
[4pts] In 2004, there were 37,040,000 people below the poverty level in the US.  It then decreased by 0.24% (not 2.4%) for the next year, and by 0.13% (not 1.3%) the next year. What was the number of people below the poverty level then?

10.  [4 pts]  Write each of these big numbers as an appropriate "illion" (K, M, B, or T)

a) 3.7E6

b) 5.91E13

c) 9.85E11

d) 5.63E5

11. [4 pts] Rewrite each of these big numbers in the most understandable form (e.g. 0.043M should be written as 43K.)

a) 5235 M

b) 12860 B

c) 0.34 T

d) 0.061 B

12 [4 pts] Fill in 2 appropriate formulas here (in D8 and C9) to compute compound interest.  The formulas should be written in a way that Excel would understand them, and that would work if you drag them down.

	
	Column B
	Column C
	Column D

	
	Rate
	Compound Balance
	Interest earned this year

	Row 8
	10%
	$500
	

	Row 9
	10%
	
	


13 [4 pts] Fill in the 3 actual values (in D8, C9, and D9) that you should get from the right formulas in Problem 12 above.
	
	Column B
	Column C
	Column D

	
	Rate
	Compound Balance
	Interest earned this year

	Row 8
	10%
	$500
	

	Row 9
	10%
	
	


14. If 20 households each pay 3% of their income to support a disabled household, and then the number of supporting households is reduced to 15 instead of 20, how much do those 15 pay (as a % of their income) to maintain the same level of support for the disabled household?
